OV YYN 4 29PN - 2 DN HIN

2019 Y02 11

NOY2 X NOIVA N TIY D 7PNPOVNIAD NON PR TIN 290 DNYPRAY NN 1NN

90N ~ orawn YA W) Lyt ({z})] > 0 ymay z mmpy v omo 1a9on

MYIND TNY PR (MNP DY 29D 99012 VIS YNN IR TY) NVIVY TPXDIVNIY NINID
NNV TPNHIVNINA NN IPN DVINIY

D8 fR™ = Ronm T nynn oy 79I ndya n»on v : [a,b] — R™ »nn .1
M2y DNDINN DR MPNY 10N :197) .y TIRD DM IPDINDVIN [ ¥ IO
Cly (k) — 7 (Be—1)|l 2 Az X 95NN 107 50PN

o»p) .O”P f7 fdlw 1o f: R - R 79N ndya n>»on v : [a,b] — R” »nn .2
(77 TINAD DY f 5V 50PN

o”p f& Al Ny = 7ic.q OY [c,d] C [a,b] 529 M0 (N)

lim / fdl = lim / fdi = / Fdi
7Y (en) e=b /sy v

[a,b] YOP2A ¢1, ..., Crm1 MTMPI DY 2MD 19DNY 1VI9 NIV 4 DRV IV (3)
ON 9NO0PRD MR b = ¢, )V a = ¢g IR [¢;_1, ¢;] DYOPI MO NPT
by
opnm 07p [ fdl an nexy faoop [y ()] dt Svrsn

YOI (2)

|[a,c]

b
| / fdi = / £y @) I @)l dt

IR NOYA Oy v : e, b] = R™ onn 3

OION f N Y D DN TR 29D TDATMOYR [ ORY IO (N)
.f7 fdl < ML () nR 792009K [ OrY DN (2)

:DPNAN DYNDVYPNN NN 1AVN 4

v=A{(y) [zl + [yl =1} o [r(z+y)dl &)
O<t<2myy((t)=({+1,t+2,3) Wwnd fw(2m+y+z)dl (2)



I={(z,y)|2? +y* = da} 2wn> [, Qe +y+2)dl o
I = {(:c,y,Z) lx=t,y=+V8t3 2 =220 <t < 1} WND [ xyzdl (1)
I ={(z,y): y* =4z} qon> [, |y[dl ()

Sy M (z,y, 2) NP2 NONN Maxw 15 v (t) = (cost,sint, 3t) yap ym .5
(0,0,1) 2 X¥1) 1DW TAN N¥PY NN ON V9PN Non NN 1avn .22 4 y2 + 22
/3607 1M



